13'-0" NOMINAL MOUNTING HEIGHT

112 1/2"

=\

|—1'-9 1/2"

4" 1.D. ALUMINUM POLE
TOP CAP WITH (3) SET
SCREWS @ 120° APART

LIGHT POLE SHAFT FABRICATED

POLE RATING (PER AASHTO 1994):
WIND SPEED: 80 MPH MAX

GUST: 104 MPH MAX

EPA (LUMINAIRE): 8.0 8Q. FT. MAX
WEIGHT (LUMINAIRE): 60 LBS MAX

FROM 6063-T4 ALUMINUM TUBE @1 131"
(LIGHT POLE ASSEMBLY IS HEAT
TREATED TO T6 CONDITION AFTER @13" MAX.
WELDING) Vs BOLT CIRCLE
7 —r
P~ (4)1 1/8" DIA. x 2 3/4" LG.
/ SLOTTED HOLES
9 13/16"
{
13" \ \ ]
4" 0.D. x 250" WALL N
B 2. Y .
N\ \\J\ J,/ 217"
@9 13/16" MIN.
CENTERLINE OF BOLLGIRCEE
HANDHOLE TRAFFIC DIVISION
DETAIL A PUBLIC WORKS DEPARTMENT
City of Overland Park, Kansas
SECTION A-A
16 FLAT FLUTE ‘ n - 0
e R REVIEWED EXCEPTIONS  REJECTED
e N NOTED
CAST RING
TOBASE / 1/& POLE TO
CAST BASE
4" x 6" ALUMINUM
HANDHOLE DOOR
CAST ALUMINUM WASHINGTON

/—DECORATIVE ANCHOR BASE

SEE "BASE DETAIL" & "DETAIL A"

(4) 3/4"-10 ANCHOR BOLTS
(BY OTHERS)

FOOTING, REINFORCING
ROD, AND PVC CONDUIT
(BY OTHERS)

DO NOT SCALE 7

(4) 3/4"-10 ANCHOR BOLTS
(BY OTHERS)

Z GROUT

BASE DETAIL

Wbe

RaL éa/2_>

valmont~f

TITLE:

S WASHINGTON FLUTED POLES

/ QTY:

Valmont Industries, Inc. Structures Division
20805 Eaton Ave Farmington, Minnesota 55024-7832
Phone: (651) 463-8980 (800) 898-7577
Fax: (651) 463-3349

“*CONFIDENTIAL™

“The information contained in this drawing is privileged and confidential,
and may be protacted from disclosura. Please be awars that any use or
dissemination of this drawing may be subject to legal restriction or sanction.

MODEL NO.: BY:
MATERIAL: ALUMINUM ALLO SLF
FINISH: POWDER PAINTEHUNTER GREEN CHKD BY:
PROJECT: CITY OF OVERLAND P,
SOLDTO: LEMAC APPREBY. |
SHIP TO CITY OF OVERLAND PARK
P.0. NO 290908 DATE:
REP: POWER EQUIPMENT SALES 6-17-08
A DWG NO:
A LH99768
/A lorrzsios | ADDED EPA NOTE SLF [ ACE:
REV |DATE REVISION DESCRIPTION BY 1/2




POLE RATING (PER AASHTO 1994):
WIND SPEED: 80 MPH MAX

/I\ GUST: 104 MPH MAX
EPA (LUMINAIRE): 8.0 SQ. FT. MAX
WEIGHT (LUMINAIRE): 60 LBS MAX

27 13/16"
Y 213" MAX.
—T &\; 4" 1.D. ALUMINUM POLE ey SOLT OIRGLE
TOP CAP WITH (3) SET 7 T
SCREWS @ 120° APART =T (4) 1 1/8" D!A X 2 3/4u LG
/ SLOTTED HOLES
LIGHT POLE SHAFT FABRICATED sl |
FROM 6063-T4 ALUMINUM TUBE —
(LIGHT POLE ASSEMBLY IS HEAT 13" T
TREATED TO T6 CONDITION AFTER A
WELDING) \\ \J[J/// )
217"
\N
= -
% S @9 13/16" MIN.
T CENTERLINE OF BOLTCIRCLE
5 & — HANDHOLE TRAFFIC DIVISION
E T i DETAIL A PUBLIC WORKS DEPARTMENT
3 City of Overland Park, Kansas
3 Date__B/17/2009
2 SECTION A-A _ . ..
2 16 FLAT FLUTE Reviewed BY X0
=2 . . | ) T éﬁ’ ~ 0
g A P, X | REVIEWED EXCEPTIONS  REJECTH
4"0.D. x 250" WALL : NOTED
CAST RING T ]
I AR T POLE TO
4" x 8" ALUMINUM TOBASE / " i 1A \ .FV_< CAST BASE
T = /HANDHOLE DOOR / RN
. T AL U AL ST IR WA
= CAST ALUMINUM WASHINGTON it &Q D W,
2 DECORATIVE ANCHOR BASE \@ & (‘\ m )}) )D”)
I’ " SEE "BASE DETAIL" & "DETAIL A" — 5
e (4) 3/4"-10 ANCHOR BOLTS
I (BY OTHERS) D
Al
= I FOOTING, REINFORCING 2
[/ | ROD, AND PVC CONDUIT e e |
(BY OTHERS) |

(4) 3/4"-10 ANCHOR BOLTS

GROUT (BY OTHERS)
BASE DETAIL
CCO/"’ sholl be KAL (,0/2)
DO NOT SCALE ya .
TITLE: / QTY:
S WASHINGTON FLUTED POLES
MODEL NO.: DWN BY:
MATERIAL: ALUMINUM ALLO Z SLF
FINISH:  POWDER PAINT{HUNTER GREEN ) CARD BY:
i . PROJECT: CITY OF OVERLAND PARK
Valmont industries, Inc. Structures Division SOLD TO: LEMAC APPR BV, |
20805 Eaton Ave Farmington, Minnesota 55024-7932  [SHIP TO:  GITY OF OVERLAND PARK s
Phone: (851) 463-8990 (800) 899-7577 P.O. NO: 290805 DATE:
Fax: (651) 463-3349 REP: POWER EQUIPMENT SALES 06/17/08
A - DWG NO:
**CONFIDENTIAL™ A LH99768
The information contained in this drawing is privileged and confidential, | e
and may ba protected from disciosure. Please ba awars that any usa or A (7/28iC9 | ADDED EPANOTE SLF g
dissemination of this drawing may be subjact to legal rastriction or sanction. REV |DATE REVISION DESCRIPTION BY 2/2




